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BOTANY
( General )

( Diversity of Microbes and Cryptogams )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x7=7
T 2P Tel o
(a) Define thallophytic plants with example.
BATEATE SRR R W |
(b) Who is the father of botany?
Tfe% RE &1 @ 7

(¢) Name one |unicellular eukaryotic
fungus.

<1 ST ICINCFRY (SFH AW 1|
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(2)

(d) What are viroids?
ESECR LN

(e) Name one symbiotic bacteria.

o1 &R @RI T o

() What is the main component of fungal
cell wall?

T (I @ 94 oy R 2
(@) What is ligule?
e 2
2. Answer/Write notes on the following briefly :
TeTe frarrd vy Bed /5y G ford 2x4-8
(a) Nutrition of fungi |
T R

(b) Difference between Bryophytes and
Pteridophytes

R 9F GO SRR Trere el

(c) What is a bacteriophage? Explain with
diagram.

QRERSTwE & 7 B 3o fom o

(d) Economic importance of lichens

I AT 9Ty
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(3)

3. Answer any three of the following questions :

were fra e R e fefRbm S forn

(a}

(b)

{c)

(@

(e)

4. (a)

20A/347

5x3=15

Write a brief note on the reproduction of
fungi.

CSTIT o TR <O1 5 GO o o

How are viruses transmitted?

SRAT T (FF W ?

Explain plant disease control.

e et g 39 T 1

Rhizophore is a leafless stem. Justify.

T 3 e 1o | I fa

Discuss the impact of plants on human
life.
T TS SRW ASR A F41 |

Discuss the useful and harmful aspects
of bacteria. 10

@ERER SRR WF SRl 1 oo
S[caeAl 90 |
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(4)

Or/ 94

Describe the life history and usefulness
in agriculture of Anabaena.

GARR & [& wF RS TrRornz
fq F91 1

(p) What is alternation of generation?
Describe the structure of capsule of
Funaria. ‘5+5=10

i 1 7 REARTR o5 o8 301 41 1
Or/ sd1

Describe the structure of sporophyte of
Marchantia and Anthoceros. 5+5=10

TEFART T GF IR AL o I T |

(c) Write an explanatory note on the origin
of pteridophytes. 10
GFrre®n R Sefed R o sz
ot forat o
Or/ [l

Give a comparative account of the
sporophyte of Equisetum and Pteris.

5+5=10
2P WF GRE @A R e
R famm o )

ok
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